Installation Instructions

www.centrewire.com

1 Way Easy LatCh Hlnge Klt for Steel Mossfield Road, Adderley Green, Longton, Stoke-on-Trent, ST3 5BW

Before installation of the hinge set please ensure that the package
contains all the items shown in the photograph (Left).

1 x Top Rail Guide Plate.

2 x U Bolt ¢/w Washer and Nyloc Nut.

1x Shoot Bolt 335mm Long ¢/w D loop Handle.
1x 25.5mm OD Spring x 128mm Long.

1x M20 Washer.

1x Roll Pin 5.5mm x 32mm Long.

1x Auto Catch on RSF holed twice.

1x M10 x 50 Nut / Bolt / Washer.

2 x M10 x 100 Coach Screw.

," { For best results,
[ attach handle

By F___.-*__':_:-:":] .'I | to gate as shown
-f‘_’:_..-- a3 .I;_'r'l in drawing
| | ---"‘(j}-l'a'l @
o [ (] @

=
comes with handle not shown

1. Remove the existing slide bolt from the gate and refit the Easy Latch ® using the M20 washer and roll pin to secure the spring.

2. Fit the Handle Guide to the top rail and secure using the 2 x U Bolts, Washers and Nylocs. NOTE — the handle should be vertical when in
resting position.

3. Fit the handle through the handle guide, fit through the D loop of the slide bolt and attach to the 3rd or 4th rail of the gate. (You may
need to drill the horizontal rail for the bolt)

4. Tighten but loose enough to allow handle to be operational.

5. Attach auto gate catch to slam post if required in the appropriate position and cut off excess length of the slide bolt and U bolt Thread.
6. Check that the kit works perfectly and tighten all bolts

7. File and smooth off any rough edges.

If you need any further

,3 advice/guidance regarding
the installations of any of

our products please contact

\\ the office.

-

C Centrewire

We strongly advise the use of personal safety equipment where appropriate: gloves, glasses boots etc.



